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Реши задачу:

- 70 лет

- 7 лет

во ? раз



Какие ошибки заметили?

   - 6 3 7                    - 5 8 4
        2 7 3                   4 2        



Алгоритм вычитания 
трёхзначных чисел

  
   Пишу: …
   Вычитаю единицы: …
   Вычитаю десятки: …
   Вычитаю сотни: …
   Читаю ответ: …



        

      ●                            ●                               ●                               

   - 4 6 3           -  5 4 8              -  8 7 0   
  1 8 1                 9 3                  3 8 0 

     2 8 2              4 5 5                  4 9 0

 Учебник с. 72, № 1
Объясни решение:



Самостоятельная работа

      Iв.                       II в.
х + 18 = 78                 21 – х = 15  

 х ∙ 13 = 91                 х : 5 = 20
                   

              


